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Результат 


Дано :
Q= 5  кН
Р= 3  кН
М= 10   кН·м

а= 2   м
b= 1  м
c= 2  м
Визначити реакції опор
Обчисленні значення відповідних реакцій внести до таблиці та отримати результат 
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Результат 

Дано :
Q= 15 кН
Р= 12 кН

Т= 10 кН 
а= 0,25 м    d= 0,4 м
b= 0,5 м   c= 0,2 м

e= 0,2 м    f= 0,4 м    
α= 60 º
Визначити реакції опор
Обчисленні значення відповідних реакцій внести до таблиці та отримати результат 
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Результат 

Дано :
Q= 3  кН
G= 8 кН

Т= 6 кН    R=0,5 м
а= 0,5 м    d= 0,25 м
b= 1,2 м   c= 0,4 м

e= 0,5 м    r=0,1 м    
Визначити реакції опор
Обчисленні значення відповідних реакцій внести до таблиці та отримати результат 
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